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62.   How many meters are in one kilometer? 

· In one decimeter?

64.   Explain how temperatures on the Celsius and Kelvin scales are related.

we haven’t done the highlighted yet.

66.   A 5-mL sample of water has a mass of 5 g. What is the density of water?
67.   The density of aluminum is 2.7 g/mL. What is the volume of 8.1 g?
68.   An object with a mass of 7.5 g raises the level of water in a graduated cylinder from 25.1 mL to 30.1 mL. What is the density of the object?
73.  When dividing numbers in scientific notation, what must you do with the exponents?

76.  Write the following numbers in scientific notation.

a.   0.0045834 mm 


c.   438,904 s

b.   0.03054 g 


d.   7,004,300,000 g

77.  Write the following numbers in ordinary notation.

a.   8.348 × 106 km 


c.   7.6352 × 10-3 kg

b.   3.402 × 103 g 


d.   3.02 × 10-5 s

78.  Complete the following addition and subtraction problems in scientific notation.

b. (3.1 × 104 mm)  +  (4.87 × 105 mm)

e. (4.68 × 10-5 cg)  +  (3.5 × 10 -6 cg)

g. (9.87 × 1 0 4 g)  -  (6.2 × 1 0 3 g)

j. (5.72 × 1 0 -4 dg)  -  (2.3 × 1 0 -5 dg)

79. Complete the following multiplication and division problems in scientific notation.

a. (4.8 × 105 km)  ×  (2.0 × 103 km)

b. (3.33 × 10 -4 m)  ×  (3.00 × 10-5 m)

d. (8.42 × 108 kL)  ÷  (4.21 × 103 kL)

f. (3.3 × 10-4 mL)  ÷  (1.1 × 10-6 mL)

80.  Convert the following measurements.

a.  5.70 g to milligrams 


d.  45.3 mm to meters

b.  4.37 cm to meters 


e.  10 m to centimeters

c.  783 kg to grams 



f.   37.5 g/mL to kg/L

81.  A troy ounce is equal to 480 grains, and 1 grain is equal to 64.8 milligrams. If the price of gold is $560 per troy ounce, what is the cost of 1 g of gold?
82.  The average mass of a kernel of popcorn is 0.125 g. If 1 pound = 16 ounces, and 
1 ounce = 28.3 g, then how many kernels of popcorn are there in 0.500 pounds of popcorn?

83.  You have 15 g of hemoglobin in every 100 mL of your blood. 10.0 mL of your blood can carry 2.01 mL of oxygen. How many milliliters of oxygen does each gram of hemoglobin carry?
	89.  Record the measurement shown in Figure 2.18 to the correct number of significant figures.
(hold a paper edge up against the computer screen to see where it is on the ruler)
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93. The accepted length of a steel pipe is 5.5 m. Calculate the percent error for each of these measurements.
d.    5.1 m

94. The accepted density for copper is 8.96 g/mL. Calculate the percent error for each of these measurements.
c.    9.00 g/mL

